



























Bandwidth

- The **bandwidth (BW)** of a signal is usually calculated from the differences between two frequencies (called the bandwidth limits).
- **Absolute bandwidth**: Use the highest frequency and the lowest frequency in the positive-*f* part of the signal's nonzero magnitude spectrum.
- **Half-power bandwidth** (3-dB bandwidth): Use the frequencies where the signal power starts to decrease by 3 dB (1/2).
- Null-to-null bandwidth: Use the signal spectrum's first set of zero crossings.
- Occupied bandwidth: Consider the frequency range in which X% (for example, 99%) of the energy is contained in the signal's bandwidth.

178







182

QAM Demodulation

• When
$$B < f_c$$
,

$$LPF\left\{x_{QAM}(t)\sqrt{2}\cos\left(2\pi f_{c}t\right)\right\} = m_{1}(t)$$
$$LPF\left\{x_{QAM}(t)\sqrt{2}\sin\left(2\pi f_{c}t\right)\right\} = m_{2}(t)$$

$$\begin{aligned} v_{1}(t) &= x_{\text{QAM}}(t)\sqrt{2}\cos(2\pi f_{c}t) \\ &= \left(m_{1}(t)\sqrt{2}\cos(2\pi f_{c}t) + m_{2}(t)\sqrt{2}\sin(2\pi f_{c}t)\right)\sqrt{2}\cos(2\pi f_{c}t) \\ &= m_{1}(t)2\cos^{2}(2\pi f_{c}t) + m_{2}(t)2\sin(2\pi f_{c}t)\cos(2\pi f_{c}t) \\ &= m_{1}(t)(1+\cos(2\pi(2f_{c})t)) + m_{2}(t)\sin(2\pi(2f_{c})t) \\ &= m_{1}(t) + m_{1}(t)\cos(2\pi(2f_{c})t) + m_{2}(t)\cos(2\pi(2f_{c})t - 90^{\circ}) \end{aligned}$$





Derivation of the QAM Key Equation (1)
• Recall that
$$X(f) = \int_{-\infty}^{\infty} x(t)e^{-j2\pi ft} dt$$
.
• Find and simplify the Fourier transform of $(x^*(t))$.
 $Y(f) = \int y(t)e^{-j2\pi ft} dt = \int x^*(t)e^{-j2\pi ft} dt$
 $= \left(\int x(t)e^{-j2\pi ft} dt\right)^* = (x(-f))^*$
• Find and simplify the Fourier transform of $\operatorname{Re}\{x(t)\}\) = x^*(-f)$
 $y(t) = \operatorname{Re}\{x(t)\}\) = \frac{1}{2}(x(f) + x^*(-f))$

Derivation of the QAM Key Equation (2)

$$LPF \left\{ \underbrace{\left(\operatorname{Re}\left\{ m(t) \times \sqrt{2}e^{j2\pi f_{c}t} \right\} \right)}_{(x_{QAM}(t)} \times \left(\sqrt{2}e^{-j2\pi f_{c}t} \right) \right\}} = m(t)$$

$$m(t) \xrightarrow{F} M(f)$$

$$m(t) \xrightarrow{F} M(f)$$

$$m(t) \xrightarrow{F} M(f - f_{c}) \qquad \operatorname{Re}\left\{ g(t) \right\} \xrightarrow{F} \frac{1}{2} \left(G(f) + G^{*}(-f_{c}) \right)$$

$$g(t) \qquad G(f) \qquad G(f)$$

$$x_{QAM}(t) = \sqrt{2} \operatorname{Re}\left\{ g(t) \right\}$$

$$\int F$$

$$x_{QAM}(f) = \sqrt{2} \times \frac{1}{2} \left(G(f) + G^{*}(-f_{c}) \right) = \frac{1}{f_{2}} \left(M(f - f_{c}) + M^{*}(-f_{c} - f_{c}) \right)$$

$$187$$